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Question 1 [35 marks]

Without using a calculator.

1.1 Simplify the followings:
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2.2% + 62771\ =
o (2 5
1.2 Find the value of z and y if, (z + 2i) +i(3 —4) = 3 — yi” [5]

1.3 Solve the following equations:

a) (2+9%)? = (2yv2)’ [5]
2
b) logs [ logjz| —3logyz+4+5| =2 (5]
2 2
¢) az? + bz + c = 0 (using completing of squares method) (5]

Question 2 [37 marks|
2.1) Find 0.272727(27) as a fraction? (5]
2.2) Solve the inequalities:

a) 22 -2 —-3<0 (5]
b) log%(B:vz) ot log% (2 - 5z) 6]

2.3) Given the geometric series: 8z2 + 4z3 + 224 + ...

a) Determine the n"* term of the series. 2]
b) What value(s) of z will the series converge? 4]
c) Calculate the sum of the series to infinity if 2 = 3. [4]

2.4) Find sum of the followings, if they exists.

()
k=5 .
4 58

2.5) Solve: —3; + .= g and = g by elimination method. 6]



Question 3 [28 marks]

3.1) If the 27, 37 and 4% terms in the expansion of (a + b)™ is 240, 720 and 1080 respectively,

find the value of a, b and n? [10]

3.2) Decompose x—(zﬁ into its partial fractions. 8]
sinx —cosz tanz —1

= [5]

3.3) Show that — =
sinx + cosx tanx + 1

3.4) Solve the following trigonometric equation

2cos’z — V2cosz =0




